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NEW QUESTION 1
You execute this command in your database:
ALTER SYSTEM SET ENCRYPT_NEW_TABLESPACES = DDL;
How does this affect the creation of tablespaces?

A. User tablespaces with noENCRYPTIONclause specified in theCREATE TABLESPACEstatement are not encrypted anywhere.
B. TEMPandUNDOtablespaces are transparently encrypted with AES128 by default only in the cloud.
C. TEMPandUNDOtablespaces are transparently encrypted with AES128 by default in an on-premise database.
D. User tablespaces with noENCRYPTIONclause specified in theCREATE TABLESPACEstatement are transparently encrypted with AES128 only in an on-
premise database.
E. User tablespaces with noENCRYPTIONclause specified in theCREATE TABLESPACEstatement are transparently encrypted with AES128 only in the cloud.

Answer: B

NEW QUESTION 2
TheCOMPATIBLEparameter is set to 12.2.0.0.0.
Which two statements are true about SQL identifier lengths? (Choose two.)

A. Disk group, PDB, and tablespace names are limited to 30 bytes.
B. Table names can be as long as 128 bytes.
C. Database names can be as long as 30 bytes.
D. Database link names can be as long as 30 bytes.
E. Database names can be as long as 128 bytes.

Answer: BE

NEW QUESTION 3
In your CDB1 container database, theDB_CREATE_FILE_DESTparameter is set to‘/u01/app/oracle/ oradata’.
CDB1has an application container calledREGIONS_APP.
There are no seeds forREGIONS_APPand there are no other application containers. You plan to execute this command.
CREATE PLUGGABLE DATABASE AS SEED ADMIN USER seed_adm IDENTIFIED BY admin_123;
What must you do for the command to execute successfully?

A. Set the current container toREGIONS_APP
B. Set the current container toCDB1
C. Add theFILE_NAME_CONVERTclause to the command
D. Add theCREATE_FILE_DESTclause to the command
E. Set thePDB_FILE_NAME_CONVERTparameter to‘/u01/app/oracle/oradata’

Answer: E

NEW QUESTION 4
Examine these statements:

Which statement is true?

A. Statements 2 and 3 will validate the conversion
B. Only statement 3 will validate the conversion
C. Only statement 1 will validate the conversion
D. Statement 1 will return an error
E. All the statements will validate the conversion

Answer: B

NEW QUESTION 5
You want to partition theSALEStable on theCITYandSALE_DATEcolumns. Which three partitioning methods can you use? (Choose three.)

A. range
B. interval
C. hash
D. list
E. virtual column-based

Answer: ACD
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NEW QUESTION 6
In which four situations does theRMAN DUPLICATEcommand use the “pull” method? (Choose four.)

A. when theUSING BACKUPSETclause is used
B. when theSET ENCRYPTIONclause is added before theDUPLICATEcommand
C. when theSECTION SIZEclause is used
D. when the number of auxiliary channels allocated is less than the number of target channels allocated
E. when theUSING COMPRESSED BACKUPSETclause is used
F. when no auxiliary channels are allocated
G. whenIMAGE COPIESare used for theDUPLICATEoperation

Answer: ACDE

NEW QUESTION 7
In an Oracle 12c Release 2 database,USER1hasCREATE SESSION,CREATE PROCEDURE, andCREATEFUNCTIONprivileges.
Examine these commands:

SYSexecutes this command:
SQL> SELECT add_num(1,2) FROM DUAL;
What is the result?

A. An error is returned
B. The message “The result is 3” only is displayed
C. TESTDBAis created with theSYSDBAprivilege only
D. Only “3” is displayed
E. TESTDBA is created will theSYSDBAprivilege and the message “The result is 3” is displayed

Answer: C

NEW QUESTION 8
HR.EMP.EMPLOYEE_IDis the primary key of theHR.EMPpartitioned table, which contains 108 rows and resides in theEXAMPLEtablespace.
HR executes this command:
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SQL> CREATE TABLE employees TABLESPACE users FOR EXCHANGE WITH TABLE hr.emp;
Table created.
Which two statements are true? (Choose two.)

A. Dependent objects ofHR.EMPare automatically created forHR.EMPLOYEES.
B. HR.EMPis moved to theUSERStablespace.
C. The column namesHR.EMPandHR.EMPLOYEESare identical.
D. TheHR.EMPLOYEEStable has 108 records.
E. HR.EMPLOYEES.EMPLOYEE_IDis thePRIMARY KEYofHR.EMPLOYEES
F. The column orderHR.EMPandHR.EMPLOYEESare identical

Answer: CF

NEW QUESTION 9
Which three types of database objects can have their columns stored in the In-Memory column store? (Choose three.)

A. heap tables with composite primary key constraints
B. heap tables with dependent materialized views
C. clustered tables with dependent materialized views
D. index-organized tables stored in system-defined tablespaces
E. sys-owned objects stored in sysaux-defined tablespaces

Answer: BDE

NEW QUESTION 10
U1.T1is in a tablespaceTBS_UNCMPwhich has no default compression andU1.T2is in a tablespace,TBS_CMPwith default compression for query low.
You execute commands:

Which three statements are true? (Choose three.)

A. The primary key constraints onT1are dropped
B. T1is in the TBS_UNCMP tablespace
C. T1is in the TBS_CMP tablespace
D. T1is in compressed format
E. T1is in uncompressed format
F. All indexes onT1remain valid

Answer: ACE

NEW QUESTION 10
You want to restrict PGA usage to 200 MB for a set of database users’ sessions as part of your organization’s security requirements for combating denial of
service (DOS) attacks.
Which statement is true about limiting PGA usage for those users’ sessions?

A. You can limit their PGA usage by settingSORT_AREA_SIZEto 200 MB.
B. You cannot limit PGA for a set of database user sessions.
C. You can limit their PGA usage by settingPGA_AGGREGATE_LIMITto 200 MB.
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D. You can limit their PGA usage by settingPGA_AGGREGATE_TARGETto 200 MB.
E. You can limit their PGA usage by setting theSESSION_PGA_LIMITdirective by using Database ResourceManager

Answer: C

NEW QUESTION 13
Identify a situation where performance profiles can be used for application containers.

A. to specify the total number of parallel execution servers available
B. to specify the maximum time, in seconds, that a parallel statement can wait in the parallel statement queue before it is timed out
C. to specify the maximum percentage of the parallel execution server pool that a particular application container can use
D. to enforce a limit on the number of I/OS issued per second
E. to enforce a limit on I/O throughput per second

Answer: A

NEW QUESTION 15
Examine these commands executed in thecdb1container database:

Which statement is true about thec##USER1account?

A. It is locked for two days after the password expires.
B. It is locked if the password is not changed within three weeks.
C. It is locked for 90 minutes after four failed login attempts.
D. It is locked after for consecutive failed login attempts.
E. It is not affected by the profile because the user has theSYSDBAprivilege.

Answer: D

NEW QUESTION 16
Which three database objects can have columns stored in the In-Memory (IM) column store? (Choose three.)

A. subpartitions
B. clustered tables
C. materialized views
D. index-organized tables
E. heap tables
F. any SYS owned objects

Answer: BDF

NEW QUESTION 18
One of your databases supports an OLTP workload.
If a better plan is discovered for a statement, then you want that plan to be used. Which two can cause better plans to be used for a statement? (Choose two.)

A. adaptive cursor sharing
B. using literals in SQL statements
C. SQL Access Advisor
D. SQL Performance Analyzer
E. adaptive execution plans
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Answer: CE

NEW QUESTION 22
In which two situations does theINHERIT ANY PRIVILIGESprivilege regulate the privileges used?

A. when a user creates a new user
B. when a user performs a GRANT or REVOKE operation
C. when a user queries aBEQUEATH CURRENT_USERview that references an invoker’s right procedure
D. when a user runs a procedure created with invoker’s right
E. when a user runs a procedure created with definer’s right

Answer: CD

NEW QUESTION 23
Your CDB has a PDB,EMP_PDB.
You successfully execute these commands as theSYSTEM USERinCDB$ROOT:

Which two statements are true aboutC##USR1?(Choose two.)

A. It can connect toEMP_PDBand view the data only in tables created by common users.
B. It can connect toEMP_PDBbut cannot view the data in any table in it.
C. It can connect only to the root.
D. It is a common user.
E. It is a local user.

Answer: AE

NEW QUESTION 25
QUERY_REWRITE_INTEGRITYandQUERY_REWRITE_ENABLEDare set toTRUSTEDand TRUE
respectively in an Oracle 12c Release 2 database.
You create theSALES_EVALreal-time materialized view (MV) on theSALES, CUSTOMERS, andPRODUCTStables, which supportsCOMPLETE REFRESHby
executing these statements.

There is a constraint on thePRODUCTStable withENABLE, NOVALIDATE, andRELYattributes. No updates have been done toSALES, CUSTOMERS,
orPRODUCTSsince the MV was created. From where are rows returned and why?

A. from theSALES_EVALMV because theQUERY_REWRITE_ENABLEDsetting permits rewrites on unverified constraints if the table is not stale
B. from theSALES, CUSTOMERS, andPRODUCTS tables becauseQUERY_REWRITE_INTEGRITYis set to TRUSTED
C. from theSALES, CUSTOMERS, andPRODUCTStables because the column in theGROUP BYclause is different from theSALES_EVALMV definition
D. from theSALES, CUSTOMERS, andPRODUCTStables because the columns used in theSELECTlist are different from theSALES_EVALMV definition
E. from theSALES_EVALMV because theWHEREclause in the query and in theSALES_EVALdefinition are the same

Answer: E
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NEW QUESTION 26
Which three resources can be controlled or managed by using Oracle Database Resource Manager? (Choose three.)

A. number of parallel queries issued by a consumer group
B. maximum number of DML operations performed by a consumer group
C. sessions that are blocking other sessions
D. sessions that are not blocking other sessions
E. UNDO quota for a consumer group

Answer: ACE

NEW QUESTION 27
Examine these statements executed in thePROD1database:

Which statements are audited?

A. only theCREATE USERstatement
B. only theALTER SYSTEMstatements
C. only theCREATE USERstatement and the first change toJOB_QUEUE_PROCESSES
D. only the changes toJOB_QUEUE_PROCESSESand theCREATE USERstatement
E. all the statements

Answer: D

NEW QUESTION 30
In a Database Cloud Service (DBCS) environment, which pre-created user hassudoprivileges to run certainrootcommands?

A. grid
B. oracle
C. opc
D. nobody
E. oinstall

Answer: C

NEW QUESTION 31
Which method can be used to migrate from an on-premises Oracle Database 11g to Oracle Database 12c in the cloud if the on-premises platform is big-endian?

A. Oracle Loader-type external tables
B. remote cloning
C. RMAN Transportable Tablespace with Data Pump for all tablespaces
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D. Data Pump Transportable Tablespace for all tablespaces
E. Data Pump Conventional Export/Import

Answer: C

NEW QUESTION 36
You log in to the ORCL database as SYSTEM and successfully execute these two blocks of code:

The SCOTT user has the SELECT privilege onHR.EMP.
Which statement is true about queries bynon-DBAusers with theSELECTprivilege onHR.EMP?

A. All their queries display blanks forLAST_NAMEand the true contents of theSALARYcolumn.
B. OnlySCOTT’Squeries display the true contents of theSALARYcolumn and blanks forLAST_NAME.
C. All their queries display blanks forLAST_NAMEand zeroes forSALARY.
D. OnlySCOTT’Squeries display the true contents of theSALARYandLAST_NAMEcolumns.
E. OnlySCOTT’Squeries display zero forSALARYand the true contents of theLAST_NAMEcolumn.

Answer: A

NEW QUESTION 37
Examine this command:

Which statement is true?

A. Up to four worker processes are allocated to export data and metadata
B. Four worker processes are allocated to export only data
C. Four worker processes are active to export only metadata
D. Four worker processes are allocated to export data and metadata
E. Four worker processes are allocated when there is sufficient CPU available

Answer: D

NEW QUESTION 38
APP1is an application container that has an application seed and two application PDBs,APP_PDB1andAPP_PDB2.
1.1 is the current version of the application. You execute this block in the application root:
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What is the outcome?

A. An error is thrown because the version number should be sequential, either 1.1 or 2.0.
B. An error is thrown because theCONTAINER=ALLclause is missing.
C. An error is thrown because thec##prefix is missing in the role name.
D. A common role is created only in the application root.
E. A common role is created only in the application root and application seed.
F. A common role is created in the application root, application seed,APP_PDB1, andAPP_PDB2.

Answer: D

NEW QUESTION 43
You plan to execute this command:

Which statement is true and why?

A. It creates partitionsP1andP2whereCOUNTRYis a single column partition key andCHANNELis a subpartition key.
B. It returns an error because only one set of multiple values can be specified for each partition.
C. It returns an error because only a single column key can be used for a list-partitioned table.
D. It returns an error because theAUTOMATICoption must be specified.
E. It creates partitionsP1andP2whereCOUNTRYandCHANNELare multi-column partition keys.

Answer: E

NEW QUESTION 46
Your CDB is inARCHIVELOGmode and has an application container with a container PDB. A backup exists for the CDB.
When you connect to the container PDB and try to execute a query, you get an error that aSYSTEMdata file is missing in the container PDB.
You want to use the RMANRESTORE DATABASEandRECOVER DATABASEcommands to perform the recovery.
Examine these actions:
Connect toCDB$ROOTand executeSHUTDOWN ABORTandSTARTUP MOUNT.
Connect to the application container and executeSHUTDOWN ABORT.
Connect to the application container and executeALTER PLUGGABLE DATABASE CLOSE ABORT. Which option correctly lists the actions that you must execute
before performing the recovery?

A. 1 and 3
B. 1 and 2
C. only 2
D. only 3

Answer: A

NEW QUESTION 47
While performing a cross-platform PDB transport in an Oracle Database 12c Release 2 database, by usingXTTSfrom aLinux (x86-64)server to aSolaris
(x86-64)server, this command is executed to back up the files in a compatible format:
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What will be the outcome?

A. It creates the/tmp/pdb_orcl.xmlfile, which contains the metadata and data of the source database.
B. The backup fails because theUNPLUGoperation for cross-endian platforms is not supported.
C. It successfully takes a backup but theUNPLUGoperation ofPDB_ORCLfails.
D. It successfully completes.
E. It creates a backupset of the source database in the/home/oracle/backupdirectory

Answer: E

NEW QUESTION 51
In which three situations would you recommend DB Replay to be used? (Choose three.)

A. to check the impact of schema changes such as adding new indexes or materialized views
B. to check the impact of database migration to the cloud
C. to check the impact of changing the storage system or the network
D. to check the impact of partitioning a table
E. to check the impact of new optimizer statistics
F. to check the impact of upgrading and patching databases

Answer: BCF

NEW QUESTION 52
In your CDB, DEPTCDB, local undo is enabled. You successfully execute this command: FLASHBACK PLUGGABLE DATABASE hrpdb to SCN 424366;
Which action must you perform next?

A. OpenHRPDB
B. Take a backup ofDEPTCDB
C. Take a backup ofHRPDB
D. OpenHRPDBwithRESETLOGS
E. OpenDEPTCDBwithRESETLOGS
F. OpenDEPTPDB

Answer: D

NEW QUESTION 57
You create and enable a unified audit policy on a database that has the default auditing configuration.

The OE user, who has the DBA role, executes these statements.

What is true about the SELECT statement and why?
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A. It is audited because unified auditing is disabled be default.
B. It is audited because, by default, the database is in mixed auditing mode with default policies enabled.
C. It is audited because, by default, all user activities in the database are audited.
D. It is not audited because the table belongs to another schemA.
E. It is not audited because audit records are stored only when unified auditing is enabled in the database.

Answer: C

NEW QUESTION 62
InTESTDB, U1hasSYSDBAprivileges and the passwordOracle_4U. You recreate the password file:
$ orapwd FILE=orapwtestdb FORMAT=12.2 password=Oracle_123 ENTRIES=5 Examine the command and result:
$ sqlplus u1/Oracle_4U@testdb as sysdba ERROR:
ORA-01017: invalid username/password; logon denied What can you do to fix this error?

A. Recreate the password file with the password set toOracle_4U.
B. Change the password ofU1 to Oracle_123.
C. Set theREMOTE_LOGIN_PASSWORDFILEparameter value to NONE.
D. RegrantSYSDBA to U1.
E. Restart the database instance.

Answer: A

NEW QUESTION 67
You notice a large number oflatch: cache buffers lru chain and latch: cache buffers chainswait events.
Which four might be reasons for these? (Choose four.)

A. The same small number of blocks are repeatedly accessed by different sessions simultaneously.
B. The buffer cache is undersized.
C. Cursors are closed explicitly after each execution.
D. A large number of connected user sessions are idle.
E. DBWR is not writing the dirty buffers fast enough.
F. Blocks are ageing out of the buffer cache frequently.
G. Too many sort operations are being performed.

Answer: AEFG

NEW QUESTION 70
You set the maximum size of the diagnostic collection repository by issuing this command asroot.tfact1 set reposizeMB=5120
You then notice that the current repository size is 5 GB and that old files are not being purged. Which statement is true?

A. Thetfact1command fails because it can be set only by the Oracle software owner.
B. TFA collects new diagnostic data if theMax Size of TFA Log parameter value is greater than 5 GB.
C. TFA does not collect new diagnostic data when the maximum repository size is reached.
D. TFA collects new diagnostic data but logs a warning message.
E. TFA collects new diagnostic data while the repository directory’s file system has free space.

Answer: A

NEW QUESTION 75
Which two statements are true about application containers? (Choose two.)

A. A regular PDB can be plugged in to an application container provided it is an Oracle Database 12c Release2 (12.2) PDB.
B. An application root can be unplugged from a CDB and plugged in to another CDB.
C. An application PDB can belong to multiple application containers.
D. User-created common objects are accessible from the CDB root.
E. The application root stores user-created common objects and Oracle-supplied common objects.
F. Multiple application roots can be created in one container database.

Answer: DE

NEW QUESTION 79
......
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